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NOTES

3 problems (12 pages).
Al should be provided on the question sheets.

Some answers may require much less than the space provided.
Do not use the back of the sheets for answers.
Every FBD needed for the solution of a problem should be clearly shown.
Poinis will be deducted for any missing/ incomplete/fincorrect FBD.
Points will be deducted for answers not supporied by proper calculations.
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Problem I: (30 points)

Member AB shown in Figure [ is supported at B by a cable and at A by 2 smooth fixed square
rod (fixed support that allows translation along z-axis).

1- Determine the tension in cable BC and the support reactions at A, if the member is
subjected to a force of 4.5 kN. (3¢ points)

Note: FBD must be included

Calculations and/or Diagrams:
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Calculations and/or Diagrams:
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Problem [1: (35 points)

Figure [I

The truss shown in Figure II is subjected to a force of 200 kN at G:
1- Determine the external reactions at the roller support A and the pin at B. (5 points)
2- Determine the force in members DF, FC, EC using the section method. Also solve for
the force in members AB, and BC using the appropriate method of analysis. (3§ points)

B.. Indicale Fero. dorce members, (5 ponks)

Calculations and/or Diagrams:
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Calculations and/or Biagrams (cont’d);
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Calculations and/or Diagrams (cont’d):
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Problem [l: (35 points)

Figure I

The frame shown in Figure I1I is composed of three members AC, CD and BE, connected by
pins at C, and I. A frictionless pulley is attached to the member BE with apinatE.

1. Determine the external reactions at pins A and D and the moment at A, and the internal
iorces of the frame at points C, D and E. (35 points)

Note: FBD must be included

Calculations and/or Diagrams:

T.B.D




i
LAU- CIE200- Spring 2013-14 Test$, .. SOLOTicn . F. El-Meski

Calculations and/or Diagrams (cont’d):
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Calculations and/or Diagrams (cont’d):
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Name: TD#:

Calculations and/or Diagrams:
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Name: _ ID#:

Cajculations and/or Diagrams:
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